6.4 Practice - Trinomials where a # 1

Factor each completely.

5k? 4+ 13k +6

322 — 172+ 20
322+ 17z y + 10y?
52+ 28xy — 497>
622 — 39z — 21

21k* — 87k — 90

622+ 292 + 20
29) 4k? — 17k + 4

422 + 9z y + 2y?
4m? — 9mn — 9n?
35) 422+ 13xy + 3y

37

)
)
)
)
)
)
)
25) 1422 — 60z + 16
)
)
)
)
)
) 1222 4 622y + 703>
)

39) 2422 — 527y + 8y
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2) Tn? —44n + 12

4) Tv?—24v — 16
6) 5n% —4n — 20

8) 3r2 —4r —4

)
)
)
)
10) 72%+ 292 — 30

12) 5k% — 26k + 24

14) 3r2+16r + 21

16) 3u®+ 13uv — 1002
18) 72% — 2xy — 5y?
20) 5u? + 3luv — 28v?
10a® — 54a — 36

24) 21n%+ 45n — 54

)

)

)

)

)

)

)

)
26) 4r?+1r—3

)

)
32) 4m?+ 6mn + 6n?
34) 42% — 62y + 30>

) 18u? — 3uv — 36v*
38) 1622+ 60xy + 363>

)

40) 1222+ 502y + 28y



6.4

- Trinomials where a # 1

Answers

2(2m?+ 3mn + 3n?)
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